HE4%V:

SBUBEN
- KASSEL

RANGLISTE MITGLIEDER +

(MITGLIEDER MIND. 36% GESPIELTE SERIEN)

32. SPIELABEND AM 21.04.20

FR. 17. APRIL DI. 21. APRIL GESPIELTE SERIEN VERL

RANG NAME SCHNITT| + /- || GEW | VERL
1.SER.| 2. SER.| GES. || 1.SER.|2.SER.| GES. A| V % GEG
= |LOHSE, MI. 2 3 1.235 10,7| 1,3 | 6,0
= |RUHKAMP 2 | 10 1.220 14,429 | 3,6
1 [ = |[BAUCKLOH, A. 8 |34 |81%| 1.140 11,3 1,4 | 6,2
= [v. ROOS 657 |1.184 0 9 1.083 | -47 J|13,0| 2,6 | 4,2
2 | = [mauL 18 | 23 | 61% | 1.060 11,9 2,3 | 5,0
3 | = |HONAUER 873 |1.181 2 |21 Ja9% | 1.0a6 | -2 |J11,6|25 |58
4 | = |BRAUNHAHN 12 | 23 | 58% | 1.039 12,0 2,5 | 44
5 | = [KURING 1.360 | 1.113 12 | 15 | 40% | 1.034 | +31 ||11,6( 2,2 | 45
6 | = |BREITFELD 18 | 42% | 969 10,3 2,3 | 5,3
7 | = |DELLITH 880 | 817 29 | 66% | 935 -7 196 |16 |43
8 |1 |POTTER 16 | 37% | 900 98 (23 |54
9 (1 |BAUCKLOH, W. 566 | 834 36 | 86% | 895 -11 |} 83 | 1,0 | 59
10 | JWINTER 645 16 | 17 | 46% | 891 -15 || 9,8 | 2,0 | 4,6
11 | |GLAGOW 616 | 476 18 | 41% | 887 -43 ||10,1| 2,0 | 4,2
12 KEIM 24 | 56% | 866 81|11 |54
13 | = |GANTE 1.191 10 | 41 | 98% | 866 +9 |110,7] 2,9 | 4,7
14 | = |SKWARSKI 18 | 20 | 54% | 856 9,9 | 2,7 |54
J Just 782 | 835 14 855 -16 |95 [ 1,9 | 3,9
1> |KNOFEL 873 | 822 0 848 8,0 | 1,0 | 4,5
15 | = |JEWERT, W. 2 |30 | 69% | 847 86 | 1,7 | 49
16 | = |[KUDERLING 1.035 | 879 4 |30 | 70% | 827 +9 |84 |18 |50
17 | = |GESSNER 2 |17 J40%| 792 9,1 (20|42
18 | = JEWERT, UWE 2 |30 |69%| 774 7,7 | 1,4 | 5,7
= |KOSSINGER 916 | 598 12 711 | +16 || 6,6 | 1,5 | 4,5
1> |[KRATZSCH 506 | 756 10 631 6,5 |20 |65
19 | = |BLAUERT, A. 32 | 74% | 617 62 |15 |46
= |PORTER 1.289 | 351 12 546 | +54 |]17,8 3,0 ]34
= |LOHSE, MA. - 2 | 5% | 1.239 10,5 | 0,0 | 4,0
= |GRECIC - [ 11 ] 25%| 836 73|10 |65
= |BOHM - 2 5% 834 65 |00 |70
1> IDILCHER - 4 | 9% | 789 78 | 1,5 | 45
1 IREITZE, A. - 2 | 5% | 787 75|15 |35
4 |WIESER 521 - 7 |16%| 778 43 || 84 |21 |53
= |HEYNER - 3 | 7% | 777 6,7 | 1,0 | 6,7
= |REITZE, R. - [ 11 ] 25%| 766 7,9 | 1,9 | 4,7
= |APPELBAUM - 1 | 2% | 289 50 | 4,0 |90
= |KAUFMANN - 1| 2% 173 6,0 [ 4,0 |20
= |[UNBEKANNT - 1 | 2% | -309 8,0 |80 |20
DURCHSCHNITT | 824 9,4 |18 |49




